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(Please read each of the following instructions carefully before attempting questions)
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1  There are eighteen (18) questions in all. =
384 P eReE (18) 9ed ¥

2 Candidate has to attempt any fifteen (15) questions in all.
qlandt & Ha ugE (15) 9 & I A ¥

3  Marks assigned to each question/part are given against it.

musq/m%mﬁuammmﬁﬁgm%l

4  Word limit in questions, wherever speciﬂéﬁ should be adhered to.
usl @ -, el fafifie ¥, &1 egEr e s aifee)
5  Attempts of questions shall be counted sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left
blank in the answer booklet must be clearly struck off.

TSl % Tl Dl T HHGER B SR i €9 ¥ QU T g & AT B o qear & [
gfs I HeT A T B I IRAS ¥ @l BIS T HIg Y55 SUAT YSS F WET Bl HIE AT

6  No extra/additional sheet will be provided.:
By Al offe Iuwed el &g S|

7  Answer must be written in the authorized medium. No marks will be given for answers
written in a medium other than the authorized one.
TSl % ITX dhaw Wiagd HremH | fod w9 arfew | wiftga wremm & arfafea o feddt mmemw o
e ™ I W B ofF G Pl
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In which branch of economics, the subject of economic efficiency is  2+4+4=10
studied? Explain the concept of Production efficiency and efficiency
in distribution.

arfere % TpE Suws § onfe gear fawa & sremme T Sam &7
e gean S faawer qaar @ STaETen., B wHAEd |

How would you define the cross elastiiéity of supply (with respect to price) 10
of two agricultural crops ?

aTa & B BEe B YRl B BrE AR (BT & WEg H) B Y GieAmE

HA?

What are the determinants of ‘Demand for Gold’. Explain the degree of 5+5=10
elasticity of demand in the case of Gold.

|/ @1 = % Fraie w0 E? AW F AEA ¥ =1 S A A as B

What are the determinants of a monopoly ? How is Price and Output 5+5=10
determined under Monopoly in long run ?

THGR & Fae qa @01 ¥ ? dHem ¥ THiYeR & ofdia gl $X IAE @l
fraftor %& fean s 27

How does the addition of Government. in a two sector economy affect  2+8=10
circular flow of income ?

a‘r«%ﬁﬁaémawﬁm%mﬁa@%%mwaﬁum?ﬁéwﬁa
BT R?

Explain how saving — investment equality brings about equilibrium in 2+8=10
National output.

mﬁs%&mﬁ%mwn@awﬁwﬁ%l

Show with the help of consumer surplus and producer surplus the 2+3+3+2=10
competitive market model which will ensure the achievement of
economic efficiency.

IR SRSy ofR Iaed Sfugy @ wErdar ¥ il s diew @ s
aMfie geran @1 Suarey gvad S|

Inflation is inevitable in an economy attempting to grow rapidly in 2+4+4=10
the presence of structural bottlenecks. Discuss.

YOS S1aTel @1 SuRgfy # dS) ¥ 91 @ YO Y ol srfegawer §
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Explain which types of risks influence consumer decision making
approaches?

qqrd e Yt % Sifew Iukiedr g o & efesior @ gwifad & &7

Explicate the vision “Amrit Kaal-blue-print for an Empowered and
inclusive economy” presented in the union budget of India 2023-24.

HRA & Hard gure 2023-24 ¥ vy gy S WAL areferaRen % fem
A Hre—=] e efheHor WL &L |

“Keynesian investment multiplier does not operate in developing
countries like India.” Do you agree ?:Discuss.

aﬁﬁﬁuﬁﬁ%ﬂwwﬁ%ﬁﬁmsﬂaésﬁﬁmﬂﬁm%r’
FIT AT TG 7 Tl B

Compare PQLI and HDI and show which indicator is superior and
Why ?

PQLI 3R HDI & e &< 3R e f6 & a1 dehaw s&ax & ofik i ?

For 10 employees from a firm in Indiay the following table shows
their overtime earnings (Y) and the number of hours worked
overtime (X) in a month :

10

2+8=10

2+4+4=10

8+2=10

3+3+4=10

R ¥ TH ®H & 10 FHAiEl & fog, e aifve ow Afer 3 I seesd

F13 (Y) i afiergq &m fbu o7 & & g@ (X) st ®:

NP8 9 20 FE0 TR0 35 54 26 | 46 | 71 | 16
Y | 566|268 | 491 [ 598 [ 303 | 465 | 284 | 392 | 523 | 192

(a) Estimate the regression of overtime earnings on the number of hours

worked overtime.

STER2IZH & fh TTU H &l FET X SEEZH FIE b GRrTa H1 ST

SRl

(b) Interpret the slope of the estimatéii regression line.
AR SRR e ) o @ ST B |

(c) Find and interpret the coefficient of determination.

fraior & quie @ @ o e #Y
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14 Calculate Laspeyre's, Paasche's and Fisher's index numbers from the  3+3+4=10
following data:

frrefafaa 2o & weER, e ofR RReR gl @l T @Y

Comiodits Base Year | Base Year | Current Year | Current Year
Price (in Rs) Quantlty Price (in Rs) Quantity
A 75 BLT.. 86 141
B 79 121 & 89 148
& 84 128 93 140
D 87 116 90 153
E 80 134 110 150
15 (a) The experience for a particular computer model is that 90% of the 4

computers will operate for at least one year before repair is required.
A manager purchases three of these computers. What is the probability
that all three will work for one year without requiring any repair ?
forelt fersiw dgex wiew & fog oW % ¥ f6 70wa amasadwdt B | Ted 90%
ST B A B9 Th 94 T B BT | Th TEUH 36 AE & d gl e
¥ 1 3Ee a1 wure € R A A T e Ao @t emasae & uw 9d a%
&M B 7
(b) What are the major implications_of economic reforms for industrial 6
growth in India ?

wﬁaﬁaﬁﬁﬁsﬁmﬁsﬁmaﬂfﬁiﬁgm%wﬁﬁméw%?

16 Using IS-LM framework, explain the determination of equilibrium  2+2+2+4=10
output in an economy characterized by flexible prices.

IS-LM i &l ITANT & 5, Tl dradl ol fagrar amel srefegaean o
e ST & Fraier & @men s o

17 Clarify the Lewis model of structural .change from an agricultural 7+3=10
economy to a modern industrial economy. State three major criticisms
of the Lewis model.

P srefegaren sy sfenfre srefeawen § daToe AEdd & g9 Aied @
W Y| GEH Al B dF TI@ Arae qarsd |

18 Compare and contrast the assumptionééunderlying the Ricardian 2+2+3+3=10
and Heckscher-Ohlin models of international trade.
g = % faisan ofiv Taear—osfa Atsa § siaffed amronst @
AT B ST AT Fay|
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